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Admit Slip: Check Your Understanding
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What is DNA replication?
​​​​​​___________________________________________________________________________

___________________________________________________________________________

___________________________________________________________________________

2. Label the three parts of the molecule on the right.

3. What makes up a nucleotide?

a. ________________________________________________________________________________

b. ________________________________________________________________________________

c. ________________________________________________________________________________

4. What are nucleotides?

____________________________________________________________________________________________________________________________________________________________________________________________________________________

5. Erwin Chargaff have discovered the paring of the nucleotides and it is:

a. A = ___

b. C = ___

6. Upon many years of research and experimentation, we now know that DNA replicates using the

a. Conservative model

b. Dispersive model

c. Semi-conservative model

d. Watson and Crick model

7. What is the function of DNA Helicase?
       __________________________________________________________________________________________________________

__________________________________________________________________________________________________________

8. What does DNA primase do?

       __________________________________________________________________________________________________________

__________________________________________________________________________________________________________

9. Once the two strands of DNA are separated, this enzyme keeps them from re-annealing (coming back together).

a. Helicase

b. Ligase

c. Polymerase

d. SSB

10. What is a replication fork?

       __________________________________________________________________________________________________________

__________________________________________________________________________________________________________

11.  DNA replication would not occur (because DNA polymerase can not start the replication) without this protein

a. Primase 

b. Ligase

c. Polymerase

d. SSB

12. The leading strand of DNA is copied _________________________________ , while the lagging strand is copied ______ _______________________________.

13. The pieces of DNA produced by the lagging strand are known as 

a. Helicase

b. Okazaki Fragments

c. Ligase

d. SSB

14.  DNA replication occurs in ______ to ______ direction

15. The enzyme responsible to join together the pieces of DNA produced by the lagging strand is  __________________________

16.  Below is a double stranded DNA molecule template.   Show a simple DNA Replication below.
3’------------------------------- A – G – C – C – G – T ----------------------5’

5’------------------------------- T – C – G – G – C – A ----------------------3’ 

